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1 to 3. Each question carries 2 marks. 

1. 𝑝(𝑥)  =  𝑥2 − 7𝑥 − 30, (𝑥 − 10)

2. AC = 8cm,  AB, BC  

 

3. (0, 3), (-2, 1), (3, -3)  

 

4 to 8. Each question carries 3 marks 

4. n  2n – 5  

a) ? 

b) ? 

c) 29 ? 

5. 3 cm 21 cm  

a) ? 

b) ? 

6.  
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a) ? 

b) ? 

 

7. PQRS PR ? 

 

8. n  

 

9 to 15  Each question carries 4 marks 

9. 2 5 cm   

10.  

 

 

a) ? 

b) ? 

c) ? 

d) ? 
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11.  x  (-3, 4). 

Y  (3, -4) 

a) ? 

b) ? 

c) . 

12.  

(Positive numbers). 

 

a)  𝑥, ? 

b) ? 

13.  (0, 2), (2, 4)  

a) ? 

b) ? 

c) 𝑦 𝑥

. 

d) 𝑥  

14.  𝑥3 –  𝑎𝑥2 –  𝑏𝑥 − 4  (𝑥 − 1)  (𝑥 − 2) 

𝑎 𝑏  

15.  3 cm. 55o  60o  65o 

. 

 

16 to 20  Each question carries 5 marks 

16.  42 cm 28 cm. 

? 

17.  

 

a) ? 

b) ? 

c) ? 
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d) ? 

e) ? 

18.  1.7 m  30o 

15 m 

60o 

? 

19.  AB = 6 cm, AC = 6 cm  ∠A=65o 

 

20. . 

(cm)  

130 – 135 8 

135 – 140 12 

140 – 145 10 

145 – 150 15 

150 – 155 17 

155 – 160 11 

160 – 165 7 

165 – 170 5 

 

a) ? 

b) ? 

c)  

21.  

. (6) 

 A : 3, 6, 9, 12, 15, ….. 

 B : 1, 4, 7, 10, 13, ….. 

 C : 2, 5, 8, 11, 14, ….. 
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a)  A ? 

b) ?  

c)  C 

? 

d) 

? 

e)  B ? 

f)  B 

? 


